
P) t5(

s7)

6l)

po-e,'n I f,,
8"9r: b,*)

Da,,,aot"la E2r4
RaoJo Corq

Ca), z.5o B1*?gA

lt = 25 ;"f&) +1e

se)

62)

68)

n=:
hoqy

7= t}O-,6oolx

Qi'sfuooo r30t
6s) ?=R-C= yt - Cr,,>

?cr), i(oo-.*l) - Qew $o')

n=:
bon''Y
o*2.( %ooo7 .kf> 5;eU <

7.rF,'l ,F
nq 0@oo

\ 1
\
\

boq-
f,r

fratC+)
6ue55 27.769,o-ffe

70)

G,) y7E
5=4x-vz @.,

hcx)= s-9 ^\ ^( {
h(r): 3 - Cqx-x2

l3^ /
3

a/) cf> 5= 'F
ho.>= z-5

h6)= 2 - 'JV
I

^

Lt l - 3''t<rf

Ryckie Holm
Better:  Graph Y   = 2000 and calculate intersect.
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